## MANLY DISTRICT CRICKET CLUB

### 62nd ANNUAL MEETING

NOTICE is hereby given that the Sixty-Second ANNUAL GENERAL MEETING of the MANLY DISTRICT CRICKET CLUB will be held in the SPORTING UNION ROOMS, MANLY OVAL, on THURSDAY, 11th JULY, 1940, at 7.45 p.m.

#### BUSINESS:

- (1) To receive the Sixty-Second Annual Report of the General Committee and Honorary Treasurer's Statement of Receipts and Expenditure.
- (2) To Elect Office-bearers and General Committee for ensuing season.
- (3) To transact any other business brought forward.

L. W. GWYNNE, Hon. Secretary.

### OFFICE - BEARERS, 1939-40

Patron:

THE HON. P. C. SPENDER, K.C., M.H.R.

President:

R. A. OXLADE, Esq., C.B.E.

#### Vice-Presidents:

THE MAYOR AND ALDERMEN OF THE MUNICIPALITY OF MANLY, DR. R. B. MINNETT, MESSRS. F. TRENCHARD SMITH, J. K. WALTON, F. L. ROW, COLONEL G. MEREDITH, H. WALL. E. COOKE, C. TOMPSON, L. J. RICHARDSON, H. HAYMAN, HON E. H. FARRAR, M.L.C., H. M. AUSTIN, DR. G. M. BARRON, O.B.E., H. MATTHEWS, G. M. DUNLOP, D. D. McINTYRE, R. E. ADRIAN, K. WALTON, L. W. GWYNNE. A. LITTLE.

Hon. Secretary: L. W. GWYNNE. Hon. Treasurer: H. K. LAWSON.

Assistant Hon. Secretary: G. W. LOWE.

Delegates to N.S.W.C.A.:
R. A. OXLADE and L. W. GWYNNE.

#### General Committee:

G. AUSTIN, J. RANDELL, C. HARRIS, C. SEARLE, W. BASSETT, B. WATSON. V. TRUMPER, C. K. HAYMAN, G. LEWIS.

Selection Committee:

L. W. GWYNNE, G. W. LOWE, K. LAWSON, B. WATSON, C. SEARLE.

Hon, Auditors:

MESSRS. J. L. SEARLE, A.C.A. (Aust.) and G. M. DUNLOP.

Honorary Life Members:

MESSRS. W. S. MITCHELL, R. A. OXLADE, J. A. RANDELL, G. W. LOWE and G. M. DUNLOP.

#### Life Members:

DR. G. R. P. HALL, MESSRS C. J. CARROLL, F. P. MORRIS, P. H. O'BRIEN, T. J. UNDERWOOD, D. T. WATT, S. R. WALFORD, and C. F. W. LLOYD.

#### Members:

Adrian, B.
Austin, G.
Bassett, W.
Bennett, R.
Bigelow, J.
Browett, R.
Brown, V.
Creagh, J.
Coape-Smith, J.
Cant, A. C.
Cooke, H.
Crawford, J. S.
Campbell, I.
Davey, W.
Driscoll, K.
Eagle, F.
Flanders, R.

Flanders, K. Frazer, D. Gagie, W. Goldston, P. Gallagher, J. Gibson, E. Halstead, D. Harris, C. Hayman, C. K. Hayman, M. Hodgson, J. Hoy, W. S. Hendren, R. Krieks, L. Lancaster, E. Lawson, H. K. Little, J. Lewis, G.

Larner, W. Little, E. Lord, J. H. McCabe, J. McMahon, T. McLean, A. R. MacLennan, M. O'Donnell, F. O'Brien, F. W. Parker, J. Robins, O. Rudd, E. Robinson, E. Roper, A. Saville, N. J. Searle, C. Saunderson, R. Smith, E.

Smith, J. Soman, L. Sneddon, R. N. Spinney, R. Stevens, E. Taylor, V. Tompson, R. Trumper, V Van-Epin, K. Watson, B. Watkins, K. Wood, R. Woodhouse, L. Woodhill, P. Wilson, A. Wilson, R.

# 62nd Annual Report and Financial Statement

To be submitted for adoption at the Annual General Meeting, to be held in the Sporting Union Rooms, The Oval, Thursday, 11th July, 1940, at 7.45 p.m.

#### GENTLEMEN,

The General Committee has pleasure in presenting for your adoption the 62nd Annual Report and Financial Statement.

Your Club fielded five teams in the Competitions. Four in the Grade Competitions, one in the "B" Shire Competition; in addition, teams were fielded in the Poidevin-Gray Competition and A. W. Green Shield Competition for Schoolboys. The teams finished in the following positions:—1st team, 12th; 2nd team, 14th; 3rd team, 15th; 4th team, 6th; Shires, 9th; Club Championship, 16th.

Your Committee desire to thank the respective Captains for the manner in which they carried out their duties.

FIRST ELEVEN.—This team played 13 matches, winning 5, drawing 1, losing 7. The selectors continued their policy of previous seasons by placing their confidence in younger players. A team was assembled that regarded the season in the nature of a crusade. The draw did not favour them, meeting Waverley and St. George, two of the strongest teams, in the first two rounds. In both cases they batted on rain damaged wickets. After these eaerly reversals, however, the side rallied splendidly.

V. Trumper's splendid bowling performances, capably supported by G. Lewis and F. O'Donnell, were largely responsible for the improved position of the team. Had the batting been more consistent, as it was in the previous season, more matches would have been won.

Your Committee desire to place on record the excellent bowling of V. Trumper. He had his best season since joining the Club. He clean bowled 26 batsmen, and proved an ideal opening bowler. His effort in the first innings against University was chiefly responsible for an outright win for his side. It was indeed unfortunate that no opportunity was given this fine bowler of displaying his ability in higher class of cricket.

- B. Cook secured the batting average and scored the most runs. His slip fielding was a great asset to the side. He took the most catches in the season.
- E. Robinson is considered the most improved player. He scored 475 runs, playing with aggressiveness at all times. As a bowler he also showed improvement. This player has a bright future.
- E. Smith does a great job in facing the new ball. His value to his side must not be judged merely on the number of runs that he scores. He, however, scored 410 runs, which was a good effort.

H. K. Lawson again captained the side. His batting was considerably impaired through two hand injuries he received.

SECOND TEAM.—This team played 13 matches, winning 4, and losing 9.

B. Watson, who again captained the side, was the most consistent batsman, scoring 513 runs. G. Austin captured 40 wickets, and B. Adrian won the average. C. Hayman showed splendid slip fielding ability—he held 23 catches. C. Harris, the veteran wicketkeeper, who kept in 8 matches, made 11 catches and 11 stumpings.

THIRD TEAM.—This team won 2 matches outright, lost 10, and drew 1.

J. Coape-Smith won the average, and H. Cooke secured the aggregate. The bowling honours were won by W. Hoy, winning the average and securing the most wickets.

FOURTH GRADE.—This team was the most successful of all teams, winning 6 matches and losing 6, finishing sixth in the competition table. It will be remembered that this team finished at the bottom of the table last year. The Club's thanks are extended to V. Taylor, who in the early part of the season captained the side, and to N. Saville, who carried on in the latter part of the season.

SHIRES ELEVEN.—This team won 2 matches outright, won two on the first innings, lost 3 outright, lost 4 on first innings, lost 1 on second innings. The captain, E. Lancaster, who did creditable work in holding the side together, won the batting average, secured the aggregate in scoring 430, and made the highest score for the season, scoring 77 against Burwood.

- W. Bassett secured an average of 12.9 a wicket, 65 wickets, being the most wickets for the season.
- I. Campbell bowled well in taking 33 wickets at an average of 18.3 runs per wicket.

POIDEVIN-GRAY.—This side did not have the success of which it was capable; nevertheless the players enjoyed their cricket. D. Frazer, who captained the side, scored the greatest number of runs, and also won the average. His innings of 98 not out against Glebe and 95 against Mosman were fine efforted. E. Robinson, in running second to his captain in the batting average, and winning the bowling average played a useful part for this team. Other young players, such as E. Smith, J. Hodgson, E. Littie, had at least one useful individual performance.

A. W. GREEN SHIELD TEAM.—It was decided by the parent body to run this competition from the beginning of January and finish in December. The team did not show up as well as in previous year, the boys being much younger than those of previous years. The averages for this team will not be available till next season.

SUCCESSFUL CLUBS.—Your Club extends heartiest congratulations to the following Clubs:—St. George, in winning the 1st and 2nd Grade Premiership and Club Championship; to the consistent Western Suburbs Club, in winning the 3rd and 4th Grade Competition; Lane Cove, "A" Shires; Epping, "B" Shires; Glebe, Poidevin-Gray. We also offer the winning clubs in the Manly and Warringah Association, particularly the Daily Telegraph Shield and Martin Shield Teams, in entering their respective finals.

PLAYING AREAS.—The Committee desire to again express its appreciation to the Manly Council and Staff, for assisting your officials to stage District Cricket on the Manly Oval. We also thank the Warringah Shire Council and Staff for providing wickets at Brookvale for the minor grade matches.

INCREASED ATTENDANCES.—Figures showed that the attendances increased by more than 50%. The improved play of the 1st Team, combined with attractive fixtures allotted to the Manly Oval, were the chief contributing factors.

PRACTICE AT NETS.—Practice at the nets was splendidly attended by the players, thereby demonstrating their enthusiasm. Indeed, it is considered that attendances compare with those of any other Club.

PRACTICE CAPTAIN.—The Club members appreciate the excellent work that Mr. Tom Madden is doing as Practice Captain. He is becoming a definite part of the Club, to which he has endeared himself to every member.

VICE-PRESIDENTS' MATCH.—Your Committee set aside Manly-Mosman fixture to welcome Club Vice-Presidents. The fixture proved a most attractive one, and resulted in a win for Manly. Mr. Stan McCabe, the State Captain, appeared for the first time on the Oval. Your patron, The Hon. P. C. Spender, M.H.R., attended the match, including a number of Vice-Presidents.

N.S.W. CRICKET ASSOCIATION.—Your Club was able to take advantage of the new rule as to replacing players on Military Service. In the Gordon match, R. Browett replaced E. Stevens, who joined the A.I.F.

The one-day fixture against Petersham, caused by playing the patriotic match on the other day, was interesting, the general impression of the players being that the two-day matches allowed for better cricket on the whole. In a one-day match, there is too much "cricket bustle," and too much advantage resting with the toss.

CRICKETERS' CLUB OF NEW SOUTH WALES.—The Cricketers' Club has been formed for the purpose of promoting social intercourse and good fellowship amongst players and persons interested in the game of cricket. Membership is open to members of affiliated clubs and associations, and to all players and supporters of the game. The annual subscription is £1/11/6, plus an entrance fee of 10/6.

DELEGATES.—Your Delegates were regular in their attendance at the meetings held by the N.S.W.C. Association. Your President, Mr. R. A. Oxlade, was again elected Chairman of the Executive, and a Delegate to the Australian Board of Control. Mr. L. W. Gwynne had the honour bestowed on him, by the delegates of the N.S.W. Cricket Association, to Manage the Sheffield Shield Team on tour of South Australia and Victoria in December, 1939.

AFTERNOON TEA was again capably served to players and supporters throughout the season by Mrs. Harold Austin. We extend our grateful thanks to her for carrying out this all important work.

AUDITORS.—We again record our appreciation and thanks to Messrs. J. Searle and G. Dunlop for again carrying the Club's audit of the financial position.

THANKS.—Your Committee desire to thank the team secretaries for work done in the respective teams, especially Mr. Harold Austin who, for some years past, has carried out efficiently this duty for the first team. Words cannot adequately express how much his services are appreciated by the players and committee. His keen desire to foster the welfare of the First Eleven never dampens his effort, even when the side fares badly, to carry on. There would be no happier person in Manly than Harold to see the Premiership Flag flying on the Oval pavision some day. The Members of the First Eleven presented him with a gift, show it was a small way, a mark of their appreciation.

PRESS.—To "The Manly Daily" in particular, coupled with the name of its representative, Mr. Hamilton, we offer our sincere thanks for supplying necessary publicity and result of matches.

TO "SEA-KAY," our Publicity Officer, we also tender our thanks, for supplying the members all club activities, through the paper.

SOCIAL EVENTS.—The Club held the Annual Dinner on the last playing Satutrday. Despite the wet night there was a good attendance of members. Old friendships were renewed, and a delightful re-union took place. Two picture nights were also arranged that increased our finances.

ENLISTMENTS IN A.I.F.—Your Committee has resolved that Club members who have enlisted or later enlist with the Australian Imperial Forces for active service abroad be made Honorary Members for the duration of the war, and that each Member be advised by letter of this resolution.

The Hon. Secretary would be glad to hear of any Members who have enlisted for overseas. All names and addresses are required for record purposes.

CONCLUSION.—We are now in the throes of an international disturbance, never before experienced by the peoples of the world. What will happen to our game next season, in so far as club activities are concerned, has yet to be decided. A number of our members have joined the Australian Imperial Forces, and the Club may be forced to rely on older members to play till our gallant men return.

For and on behalf of the Committee,

R. A. OXLADE, President.

L. W. GWYNNE, Honorary Secretary.

"And in all times of our distress,
As in our triumph too,
The game is more than the player of the game,
And the ship is more than the crew."
—Rudyard Kipling.

### MANLY DISTRICT CRICKET CLUB

### STATEMENT OF RECEIPTS AND PAYMENTS FOR 1939-1940.

RECEIPTS.	nadedahirte	PAYMENTS.	ik. Hendran 21. Geolek
	£ s d		£ s d
Balance from Season 1938/39		Materials and Repairs	63 18 4
Subscriptions		Poidevin-Gray Affiliation Fee	2 2 0
Donations		Ground Fees	1 2 0
Percentage of Gate Receipts		Printing, Stationery, Advertising	
Associates		Bank Charges	10 0
Entertainments		Postages	3 13 10
Arrears Subscriptions		Rent	6 0 0
Coaching Class Surplus	1 1 6	Insurance	1 19 8
	of C spainter of	Scorers and Scoring Board Fees	
	Flanders, 2 for	Telephone	
	MaCrosuth.	Telephonette	1 0 0
	tol K savedid at	Players' Expenses	1 19 3
		Annual Dinner (Loss)	
		Miscellaneous	2 0 5
		Balance C./f. Season 1940/41	26 13 3
	Section 1991 - National Adjustment of Section 2014	73.2 5 8 374 73 13.05	
	£143 4 11		£143 4 11
			midmid II

We hereby certify that we have audited the Books, Receipts and Vouchers of the Manly District Cricket Club for the year ended 31st May, 1940, and that in our opinion the above Statement is properly drawn up in accordance therewith.

(Sgd.) H. K. LAWSON, Hon. Treasurer. 11th June, 1940. J. M. SEARLE, A.C.A. (Aust.) Hon. Auditors.

## **AVERAGES**

1st GRADE	BATTING	AVERAGES.
-----------	---------	-----------

	Ins.	N.O.	H.S.	Runs	Avge.		
B. Cook	23	1	73	568	25.81		
C. Cant	10		45	246	24.60		
E. Robinson	23	1	74	475	21.59		
E. Smith	23	2	66	410	19.52		
D Frazer	23		56	384	16.69		
B. Adrian	10	1	23	129	14.33		
G. Lewis	19	6	31	175	13.46		
K. Lawson	15	2	53	171	13.15		
J. Bigelow	10		50	98	9.80		
J. Hodgson	22	wo Heat	39	184	8.76		
E. Rudd	12	2		87	8.70		
V. Trumper	18	5	27	99	7.61		
F. O'Donnell	16	8	13	60	7.50		
Also batted.—N. Snedd	lon,	4 innir	igs for	34	runs; E.		
Stevens, 1 for 4; R. Browett, 1 for 0.							

#### 1st GRADE BOWLING AVERAGES.

	Overs	Maidens	Runs	Wickets	Avge.		
V. Trumper	131	13	630	40	15.75		
F. O'Donnell		6	626	27	23.18		
G. Lewis	154.2	15	775	28	27.67		
Also bowled.—E.	Robinson	, 4 wicke	ts for	95 runs; E.	Rudd,		
4 for 170; B. Cook, 2 for 110; B. Adrian, 1 for 63; J. Hodgson, 2							
for 135; N. Sneddon, 0 for 25; C. Cant, 0 for 40.							

#### 2nd GRADE BATTING AVERAGES.

	Ins.	N.O.	H.S.	Runs	Avge.
R. N. Sneddon	. 8	1	63x	274	39.14
B. Watson	16	-	99	513	32.07
E. Stevens	5		112	145	29.00
B. Adrian	8	_	111	231	28.87
I. Bigelow	9	-	129	239	26.55
R. Hendren	6	1	73x	106	21.20
K. Van Epen	8		36	158	19.75
G. Austin	18	6	44	227	18.91
J. McCabe	6			94	15.66
E. Little	12	Secretary .	46	171	14.25
C. Hayman	17	2	96	210	14.00
e. mayman				Tarder Vet - 1	

Also batted.—C. Cant, 4 innngs for 108 runs; E. Rudd, 7 for 91; W. Hoy, 4 for 29; N. Saville, 5 for 35; E. Gibson, 9 for 36; W. Gagie, 5 for 19; D. Halstead, 5 for 37; N. Colless, 12 for 72; J. Gellagher, 1 for 6; J. Coape-Smith, 7 for 57; R. Browett, 5 for 43; M. Hayman, 2 for 9; R. Bennett, 6 for 33; L. Woodhouse, 1 for 7; L. Gwynne, 1 for 0.

#### 2nd GRADE BOWLING AVERAGES

	ZIIG GRADE BOWEING AVERAGES.								
		Overs	Maidens	Runs	Wickets	Avge.			
В.	Adrian	. 59	1	303	20	15.15			
G.	Austia	170	18	697	40	17.42			
J.	Bigelow	. 31	1	209	12	17.41			
C.	Hayman	. 64	1	268	14	19.13			
E.	Rudd	. 40	1	210	11	19.09			
R.	Bennett	. 101	10	445	20	22.25			
N.	Colless	. 105	1 A H 1 20	405	18	22.50			
	AT- I I I	C:1	12	1 224	D I	I			

Also bowled.—E. Gibson, 12 wickets for 334 runs; R. Hendren, 3 for 69; N. Snedden, 4 for 109; K. Van Epen, 2 for 37; W. Gagie, 0 for 61;; E. Little, 0 for 12; R. Browett, 0 for 74; W. Hoy, 0 for 6.

#### 3rd GRADE BATTING AVERAGES. Avge. 30.00 28.44 24.70 N.O. Coape\_Smith ..... 42 79 210 256 K. Van Epen ..... R. Hendren H. Cooke N. Saville 85 19.47 19.42 2 76 331 2 43 136 122 E. Little 17.42 . . . . . . . . . . . . . . . . . . . 42 Woodhouse ..... 294 L. Woodnouse C. Searle J. Gallagher O. Robins D. Halstead M. Hayman 15.00 13.40 240 262 20 56 182 53 29 12.33 L. Soman 8 A. Roper ..... 21 24 10.47 A. Flaherty ..... 6 17 31 5.16

A. Flaherty
W. Hoy
14
2
29
68
4.85
Also batted.—K. Davidson, 3 innings for 3 runs; D. McLennan,
5 for 9; R. Lancaster, 2 for 13; P. Woodhill, 2 for 6; E. Gibson, 3
for 28; R. Flanders, 1 for 0; V. Brown, 2 for 6; J. Smith, 2 for 2;
K. McMahon, 1 for 1; K. Driscoll, 1 for 4; J. Creagh, 0 for 1; W. Bates, 1 for 65.

#### 3rd GRADE BOWLING AVERAGES.

	0				
	Overs	Maidens	Runs	Wickets	Avge.
W. Hoy	75.2	5	374	27	13.85
H. Cooke	69	2	369	19	19.42
R. Hendren	40.2	5	190	9	21.11
O. Robins	74	2	518	24	21.58
A. Flaherty	37.6	5	173	8	21.62
A. Roper	125.3	4	606	23	26.34
L. Soman	33	DE LA CO	199	7	28.42
M. MacLennan	26	on alcert	175	6	29.16

Also bowled.—R. Flanders, 1 wicket for 25 runs; E. Gibson, 4 for 126, bay Brown, 3 for 1; W. acLennan, 2 for 26; E. Little, 1 for 4. 121

#### 4th GRADE BATTING AVERAGES.

		Ins.	N.O.	H.S.	Runs	Avge.
1.	Smith	13	3	39x	246	24.60
	Taylor	11.		63	201	18.20
	McMahon	7	1	31	107	17.8
	Watkins	12		60	213	17.7
-	Soman	9	4	35x	72	14.4
200	Saville	9	Openin	34	124	13.7
	Brown	14	1	41	246	11.2
	Crawford	10		38	110	11.00
0	Saunderson	13		38	131	10.00
-	W. O'Brien	12		2.7	100	8.33
	Woods	6		12	48	8.00
	Bennett	6	2	20x	31	7.70
	Flanders	7	1	19	45	7.50
1	I lanuels			appropriate	Figure 1	

Also batted.—J. Coape\_Smith, 5 innings for 89 runs; R. O'Halloran, 4 for 25; D. Halstead, 4 for 214; L. Woodhouse, 2 for 21; R. Wilson, 2 for 2; W. Hoy, 1 for 67; K. Davidson, 1 for 0; K. Flanders, 2 for 5; M. MacLennan, 9 for 32; P. Woodhill, 5 for 62; W. McCreagh, 4 for 27; J. Gwynne, 1 for 0; T. Berry, 9 for 27; E. Gibson, 5 for 32; K. Driscoll, 8 for 28.

#### 4th GRADE BOWLING AVERAGES.

	Overs	Maidens	Runs	Wickets	Avge.
E. Gibson	36	2	157	19	8.30
R. Bennett	94	19	258	23	11.22
K. Watkins	104	3	334	25	13.36
T. Berry	58	5	230	16	14.38
L. Soman	121	15	504	34	14.82
J. Smith	29	2	146	8	18.25
M. MacLennan	42	with I like	210	10	21.00

Also bowled.—R. Flanders, 1 wicket for 62 runs; J. Coape-Smith, 2 for 72; W. Hoy, 5 for 48; C. McMahon, 2 for 39; J. Kaleski, 2 for 32.

#### SHIRE BATTING AVERAGE.

	Ins.	N.O.	H.S.	Runs	Avge.
R. Lancaster	15	AR IGH	77	430	30.71
W. Bassett	12	9	16x	62	20.66
K. Flanders	18	5	65	229	17.61
J. Crawford	10	1	40	135	15.00
W. Davey	13	1	29	179	14.91
J. Parker	10		39	134	13.40
J. Little	12	3	35	109	12.11
I. Campbell	14	4	29	116	11.60
J. Creagh	8	_	35	92	11.50
R. Tompson	17		29	192	11.29
W. Larner	8	2	21	57	9.50
R. Saunderson	8		24	75	9.37

Also batted.—W. Gagie, 5 innings for 104 runs; R. Woods, 6 for 104; R. Wilson, 6 for 67; F. Eagle, 5 for 15; R. Spinney, 5 for 12; L. Woodhouse, 2 for 9; A. Wilson, 4 for 42; K. Watkins, 3 for 38; J. McCabe. 1 for 3; R. Flanders, 4 for 74; 1. Dumbrell, 2 for 32; J. Lord, 4 for 45; A. Walker, 1 for 1; R. Elrington, 1 for 11.

#### SHIRE BOWLING AVERAGE.

7	Overs	Maidens	Runs	Wickets	Avge.
K. Watkins	38	5	122	15	8.12
W. Larner	67	12	177	15	11.80
W. Bassett	147	9	817	65	12.56
W. Gagie	31	3	154	11	14.00
R. Saunderson	43	1	248	15	16.53
I. Campbell	134	17	640	33	19.38
R. Wood	33	5	136	3	45 33

Also bowled.—J. Parker, 0 wickets for 3 runs; K. F. Landers, 6 for 35; J. Crawford, 1 for 20; R. Lancaster, 3 for 63; A. Flaherty, 1 for 38; R. Flanders, 1 for 30; W. Davey, 0 for 9; F. Eagle, 0 for 5; J. Creagh, 11 for 180.

#### POIDEVIN-GRAY BATTING AVERAGES.

	lns.	N.O.	H.S.	Runs	Avge.
D. Frazer	7	1 1	98x	308	51.33
E. Robinson	8	Section 1989	71	187	23.37
E. Little	6		74	135	22.50
J. Hodgson	8	_	50	166	20.75
E. Smith	5		74	100	20.00
J. McCabe	7	.1	44	87	14.50
E. Rudd	5	_	32	67	13.40
V. Brown	5	_	30	65	13.00
L. Soman	4		23	49	12.25
K. Watkins	5	_	33	54	10.80
K. Van Epen	5		27	50	10.00
R. Bennett	4	2	7	7	3.50
10.0				1	D 11 1

Also batted.—L. Woodhouse, 2 innings for 3 runs; D. Halstead, 3 for 57; I. Campbell, 1 for 3; M. MacLennan, 4 for 15.

#### POIDEVIN\_GRAY BOWLING AVERAGES.

	Overs		Maidens	Runs	Wickets	Avge.
E. Robinson	36		1	206	12	17.16
M. MacLennan	20		PVOIS 3	118	4	20.50
R. Bennett	40		5	205	7	29.18
J. Hodgson	47		4	226	6	37.66
E. Rudd	40		3	221	5	44.20
Also bowledL.	Soman,	3	wickets	for 111	runs; K.	Watkins,

3 for 69; K. Van Epen, 3 for 48; J. McCabe, 1 for 17; V. Brown, 0 for 55.